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QUESTION 1
Age-group (years) | Yes Mo
|18 to 29 212 112
30 to 39 123 233
40 {1 49 421 34
50 to 59 223 323
&0 1o 59 13] 211
70 and above 243 323
Total | 1,353 | 1,543

Of the 2.896 people who voted on a certain issue. the number who voted yes and the number who voted no are shown
in the table. classified by age-group. Which of the following statements are true? Indicate all such statements.

A. Of all the people who voted- the number of voters from the 40-to-49 age-group was more than the number of voters
from any of the other age-groups shown.

B. There were more votes of no on the issue than votes of yes.
C. The median age of all the people who voted was in the 50-to-59 age-group.

Correct Answer: ABC

QUESTION 2

A certain list consists of 249 consecutive integers, each of which is less than 300.

Quuntity A Quantitv B
The number of even integers 1n the list The number of odd integers in the list

A. Quantity A is greater.

B. Quantity B is greater.

C. The two quantities are equal.

D. The relationship cannot be determined from the information given.

Correct Answer: D

QUESTION 3
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The circle graph above shows the results of a survey conducted at a high school in which each student was asked to
name one favorite sport, if any. Of the students who named a favorite sport, what percent of students named either
baseball or hockey?

A. 15.75%
B. 21%

C. 28%

D. 31.5%
E. 42%

Correct Answer: C

QUESTION 4

Larvae of many marine invertebrate species delay their metamorphosis into juveniles when cues signaling an
appropriate juvenile environment are absent, thereby increasing their likelihood of thriving as juveniles and of ultimately
reaching adulthood Nevertheless, delayed metamorphosis has potential costs for juveniles including reduced growth
and increased mortality Nearly all evidence of such costs involves species whose larvae do not feed but rather subsist
on stored nutrients, indicating that insufficient energy reserves may be an underlying cause of these costs. Supporting
this hypothesis are laboratory studies showing that in a certain bryozoan. the prolonged larval swimming that results
from delayed metamorphosis is associated with size reductions in the juvenile feeding organ (the lophophore) and that
one factor influencing the size of juveniles of certain barnacle species is how long larvae delay metamorphosis
However, other studies show that while significantly fewer juvenile Capitella worms survived to adulthood when
metamorphosis had been delayed, prolonged larval swimming had no significant effect on juvenile size, suggesting,
perhaps, that in some species,

factors other than insufficient energy reserves account for the negative effects of the larval stresses that result from
delayed metamorphosis.

The passage suggests that the, "bryozoan." the "barnacle species.\\"" and \\'Capitella worms" all share which of the
following characteristics?

A. The larvae of these species do not feed but rather subsist on stored nutrients.

B. The larvae of these species are unable to undergo metamorphosis if larval swimming is significantly prolonged.
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C. The larvae of these species do not have enough energy to meet then needs when metamorphosis is delayed.
D. The juveniles of these species manifest the negative effects of delayed metamorphosis as a decrease m size.
E. The juveniles of these species are not significantly larger than their respective larvae.

Correct Answer: C

QUESTION 5

Last year a fanner used

"-r]‘l -

Lak

of the farm\\'s wheat crop for cattle feed and sold
=
%

of the remaining amount to a flour mill. Of the wheat sold to the mill,

, or 750 bushels, was milled into whole wheat flour. What was the total amount, in bushels, of the farm\\'s wheat crop
last year?

A.1.200
B. 1.600
C. 2.400
D. 3.200
E. 4.800

Correct Answer: E
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